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Q.1 a. OUtain the expressiqn fofEr&#gy density

coeffrcients at thermal equifibffi condition.
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b. Discuss the types o#W#hl fibers based on mgffif Propagation and

Refractive Index proffi *"/
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c. Given the nurpqi&traperture 0.30 and RI @ 1.49. Calculate the critical
anele for tlq,.FtBl cladding interface. 
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b. Define Acceptance anglqand Numerical ape4ffi$frd
expression for Numerio@rture in terms ofiRb$i-ctive
cladding and surroun@ 
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'Set-up Schrodinffi{me independent ffiequation in one dimension.
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c. Calculate tk*.#tgy of the frst ffi& energy states for an electron in one

dimension@ffiential well of widffi{. I nm.
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Q.4 a. State and explain Heise$fu,ts uncertainty principle and show that electron

does not exist inside tfficlear using Heisenberg's uncertaintyprinciple.
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b. Explain Eigen yplueB and Eigen functions and hence derive the Eigen

function of a B3&le inside infinite potential well of v/idth 'a' using the

method ofNffiSlization.
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The kinetic energy of an electrc

wave length of 560 nm. Calc

electron.

, i, .qr.l to the energ$ffiShoton with a

ulate the de Brogliewwqv6 length of the
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Find ffirffirrix representation of 'X'. s
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b. D@ence cla ssi fqpgnionductors into Sdo ft %nd

Hard super conductors udng M - r1 gtupffi 
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hiS tt.o.y of sftfconduciivity forffiligible resistance of metal at

temperature ctoffi U6solute ,.to_ 
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c. A rroercoffi,ty Tin has a qri"mTemperature of 3.7K at zero magnetic

fretA'anOfuffical field of g.g3CIffiesh at goK. Find the critical field at 2K.
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Q.e a. @f size and scale , weight and strength in

animations. ru
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b. @res of normal distributionusingbell curves.
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c. A ,l"*trrg obj.ct in an animations has a first frame diffiY0.5m and the

first slow in frame 0.35m. Calculate the base distanwpd the number of
framesinsequence. ' eo"
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Q.10 a. Describe Jumping and parts of Jump. ffid;
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c. In a diffraction grating rser light undergoeldik&nd order
1.48'. The grptif,by constant

n the grating and ffin is 0.60m-
diffraction for diffraction
d = 5.05 x l0-sm and the di
Find the wavelength of
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